normalized X?

107}

1072

107

2 4 6 8 10 12 14 16 18 20
2

[ normalized x? probability |

0102030405060.7080 1

0 0
Prob 2
— Da a. T;g\an[\}l:parelliop rss ar 131 ISTC) -ploi TT_ongmal_PO (X )
— DSM TT ELF EIALL xxPU
s DQM_TT_pLF_ptALL_zzhPU
s DOM_TT_pLF_ptALL xxhPU
A 2F = 5F
< F £
2 18f = 4E.
—~ - F
3< 1.6F |
v F am oF.
1.4 S 2F
1.2) vooE
1 oF-
o.8f - :
0.6 -2F- H
0.4f -3f- :
02 -4f- :
o +¥) o w5f '
T T
o @
1 i o
095 03— - 0 2 3
TP n (PCA to beamline)
A A E
2 2 18f-
Y 3< 1.6f-
\" \2 -
1.4F-
1.2F
-
0.8F-
0.6F
0.4F
0.2F
2 o O
© ©
v @
0.5
X . 0
10 10? pw3 107 1072 ) 15)’1
T AR(track, jet
G
~ :
- 4l bl Ml
9 .
- :
S S S T N TR
o :




	Contents
	Page 1


